@7(% x(4i->f‘}(§> W ashe 4, b2 (> Uf ¥

1

(2) §) 'K( _(_‘4(§> 2ﬁ§t<tab 0. £2 ():O? TO'?
3
@(é) - x(i)m@ ERC 222,44, 52 (ﬁ > =22 F
= 4 3 ~4
(‘I—) { 4 4
[~01 ﬂc{i) ‘4(3) =W 2y CR o TELTJIU’FM( >}7¢L7%€L FilBT

%9 UETF %

B a3

(end ey L
98] (1) TTRE O Li2e, wse (S 4

= 7Y/ <2 _ = 2 0=
(2= l&f[l E\F[B EO

(?) (i)tﬁ\ﬁil%wse=m'é S 2 p=T
| 2 0 ’
0]
z

O(l)tfv\@(z, bso = (,)((é _ 4 ﬁ\%,bzé)“cé
ﬂ{i)il-}l(zi)l/ o

2 3 “‘Z% 3@%@4“’6‘?\/\ '/‘HLJI(> %2,

-7 = Js@wq[\(u?( > A <’§> 9 Ab5-h5 2" Te( ks L

24520151 _ x = lt2t T 2436 44t
L, L”HK?}[ 1% T Go—l1s6 F ANTRE rE- - 12_

Z - 44t

ThESEET Y ER VEBAEUR vz L (09 BEEER ST,



2) LR R CRR AV N G;> e okt Le R34,

B) () PVl 933he 4kr L AL T,
x= 2t

\ y- ‘ 43t
R= 214t

Moo M LR o Lo T ANTIL

2 4

242t _ 2430
17— 2" g =he zHhET tER (‘Iﬁﬁ,u’c“qz“( L‘C(%)q(:éﬁ(f}iﬂﬁ‘(b

g(” (‘) £y £43 & é.‘iqj;mfmux( >Z‘;ﬁz ( r’i?‘f“‘w’”w
=l

=1 1% ',2) "3

He () 1% I3 ?)‘&%ETZT:M‘*;ii‘uzﬁ%%éééﬁdi t=-t
° Y=2t+1 <%
( X=-t
;) ), **‘2@%9&”)2&#?)1\’714‘/”: + L),
w12 %3

HYR) 1 ¥ (s G)E%E\TZT/ r%uzé%%iéféﬂ'—; zfz 2%,
2

X

() ()=, [ >

2

= 2'(7+__

(3) (I)Knﬁl' () (,‘> () Y, ?MZE%Q,QE'{LK(LM’?HL{; ()Z F3p

{

HYB) a 2 (&( ) TRBT3T-4, REX 2 A& 13 @ E@;{B Bl %3,
=t
2=D

(&) ) ¢ BV, H) x[‘) (ﬁj 5. %43 48 a B{FH o nNLIE :t\( >z<'ﬁz,,

(
HU‘FM’F&)!;( > ERBTILY, TR 43543 Eﬁi{p{}x
Z

@0) (é) X(é)) :(3) £, lFﬁM,ﬁ?,%/v‘f?Mum( ) ¥ 3

(

0 \
(f) t¥hF LR, Fha HAAG 2=1 32



o !
x(;H-l) k), ¥askAE vz ({Q 2'$3,

(

E¥eIr @I‘ﬁmv ¥k 'Fﬁ’a‘\k.t -Yt2=2 2432,

est
—
=N
F
<7
ﬁ
-“
X
‘H
N
S
>
fiey
ML
+
o
N
<
~
[y
N
N
<}
3

AFl (O z=s  @(x=s B) 2220 9 2884 ’7[\{(/() v &%73
Y-t Y=s:s
2= 2=t BRI vz e (-,X% 25253
OH\—( ,

x A =5+t

[14): { 4=-s

2 Z=~7
®) DEB0ST, (1) ¢ FBl Bisaze 47‘ IRRARAE

-t
) xe4132<4a:0%8 N"IM/( ') € EFH3 FHCARL T NI Syt F') (Z>
=
7" Tz ()I’%’I@IMZ\ ;;-zsﬂtfi o

Z2=-t

( et (al)e, steprz
[\"?X—f;

Q& 1\ [N (2N @ 1a
(72.>X(ZP> :(‘l> ){;)x(é):fz ? (/i xi = i
[ Y 4 | 3 |5 \~¢
W
de:b(iléé>: bttr = g (270(0\—(‘I~[;,_ _22>: 212 = -3
—(ft¢t3) B )



[4A) () $)= 2 sin L 4 m@siX L) = 2z smk - 503_%

() —f((o)sﬂ ﬁsmz (0

@ (4 (-\jw! () | T (2) o!
(4[24 ntZ) G*K)W‘

(3) 5% ( )sz)@(' - )fwz)

ﬁ=o

L( @C)@G >6‘&)

‘0(2

)

nl g2 H-GH | 2%
-2y (-
_ ol (T2t (%))
COLN
fm(l)= L(z-1)

I

@Cl) n=oco
(27_5: 8 +3 @@g " -f \g 372 @Z()) {,(1){51 @zo)

1<

w3, 4 (0) (¥ BERT o, 1=072" //.-"g&/-p\la‘ﬁ%a\ w2 =2

3) m=c0
() Mm=0d



4\ (1) —Ajimg § 1oy wﬁ«?x—wd

( =
= (—xl ] ;- i-x (TL) ) l-xl - EA?’

@Tf% 2 (- “‘“) g fmdx J»z(

\th' 2 _ (_(.WZ: R R
%m & wE T ) Tt ug | e ‘*;;,:)
2

[0} ) —foq (5]

(2) U= fog x eCe, dus %

"gé@%dx‘—fudm:%g—i
7 0 O § - (4 bt byl

4) U= Hsfh%t;};@c dy=2smx wscdip . ml%’xdz—-&
51 gi'fli(-wm du [

s AP IETI - M(MMQ (@ 150

@ (W H6\>° a‘xéﬂz st [Il<g P> sm;% <0 YTp34q2"
Y <lIz ‘3:70(1) rs r%ffz BThs AN IS at.i()\g:t-foe;m“o

\/

() s >-t5y xto 1y f) = (L) 20 2%z,
22 9290 [+ B8 2 BTt B T2,
Y8502 AER st BH<¥ a0 ﬂ%i\@{ X3z, Y=t () & (B £ 7 Fbd
3) 1%0 5 F= 2+ (e sud) 2x>0 #Y. KRt
4= Pp [ (B.& 7 il 69 1= 70 3L, Fhi= €Tp5,,






